
HW # 16 Final Answers

1. { C- 1)" ✗ 2" 12=1 10 . Show Derivation Work

h=o

11
. lnlsx)= - [¥¥,tln5

2. [ (1)
"

✗
""+2

n=o

R=2
4=04614+1

12 . [)"
z

,

{ c- 15×4*3 12=0
n=o

n !
n=o (2n ) !

13 . Show Work

4. { C- IT 524+2×24+3 R=•

n=o (Zntll !
14

. e
>

15
.

e-
5

[ c- 1)
"

724%+41×24+35. R=¥ STILL

n=0 241-1

16
.

e-
×
"

[ C- 1)
" 7241×241-5 R=& STILLb-

u=o Kuti) (Znts)
+ C

17 .

E
-

don't need to solve for 2

C) b/c we don't have
a function on the left
to test x=o into . 18

. e.
%

{ (1)
"

6
""(n+}/ ✗

"+2

7. 12=-16 STILL 19
.

I

h=0 ntl 4

20
. ¥

[ C- 1)
"

✗
34+5

8. + C 12=0 STILL

n=o n! 13h15) 21
.

d-

too
{ C- 1)

"".nl/n-1R-- I
9.

STILL
4=0

after Differentiation
-1

0¥ h= /
O -K . too


